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4.1

4.1.1
1
kg/100 2 11 4
3 4
1 4
2 3 ( 3
) 3 4 4 )
5 3
3
50.000 (3 ) 50.000 (4 )
D [y
[ ]
40.000 HE 40.000 -
o
) D )
"E30.000 {m "£30.000 -
= o S
~ ~
S g E;
20.000 HB ¢ ) 20.000
B )
10.000 | 10.000 |
0.000 = 0.000 ﬁ
1 2 3 4 1 2 3 4 5
3 4
11 kg
4 kg
3 Z
1 2 3 Z 5 1 2 3 7 5
2.627] _ 0.531] 2.519] 12.512] 9.660] 2.680] _ 0.887] _ 2.060] _ 7.896] 24.368
0.000] __0.000 0.312] _ 0.150] _ 0.000 0.145] _ 0.240] _ 0.189
0.167] __0.000] _ 0.036] _ 0.056] _ 0.010] _0.007] _ 0.000] _ 0.009] _ 0.024] _0.190
0.000 0.013] __0.000] _ 0.000] _0.032] __0.000
0.000] __0.240] _0.010] _0.007] _0.000] _ 0.036] _ 0.016] _ 0.010
0.033] __0.243] _ 0.255] _0.920] _1.750] _0.047] _ 0.096] _ 0.164] _ 0.868] _ 0.840
0.160 0.136] _ 0.168] _ 0.160] _ 0.000] _ 0.017] _ 0.009] _ 0.464] _ 0.450
0.093 0.827] _ 6.584] _ 0.200] _ 0.020 2.400] _ 1.496] _ 3.670
( 0.307] _0.670] _2.700] _3.256] _1.870] 1.793] 1.887] 2.505] 5.432] _3.705
( ) 1.207] _ 0.435] _3.455] 0.712] 1.440] 2.553] 2.330] _ 1.536] _ 3.404] 12.310
(kg/100m) 4.594] 1.879] 9.937] 24.761] 15.251] 7.120] 5.218] 8.873] 19.872| 45.732
) 150.0]  115.0]  110.0] 125.0] 100.0] 1s50.0] 115.0] 110.0] 125.0 100.0
) 0.000  0.0005
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kg/4m? 12
10m
3 4
10m
2m A 3 4 2.5
A
3.000 (3 ) 3,000 (4
o
[ ]
2.500 o — 2.500
o
o
2.000 —f a — 2.000
O s] o
5 g
S 1-500 — o —  S1.500 |
< o ) <
— o )
1.000 | . 1.000 |
0.500 ; 0.500
0.000 . . 0.000 . . E . E . |
C D B C D E
3 4
4
A B © D B A B © D B
1.082 0.220 0.244 0.640 0.118 0.111 0.145 0.310 0.109 0.208 0.160 0.024
0.000 0.000 0.030 0.013 0.026 0.016
0.000 0.000 0.000 0.002 0.000 0.012 0.000 0.002 0.002 0.000 0.000
0.000 0.000
0.000 0.000 0.002
0.046 0.052 0.016 0.032 0.006 0.001 0.024 0.027 0.002 0.006
0.004 0.010 0.002 0.004 0.000 0.002 0.000 0.080 0.000 0.000 0.004
0.074 0.004 0.000 0.038 0.276 0.036 0.000 0.000 0.002 0.558
( 0.270 0.122 0.070 0.036 0.104, 0.022 0.077 0.324 0.092 0.116 0.072 0.072
( ) 0.738 0.076 0.002 0.000 0.000 0.002 0.550 0.087 0.024
(kg/4m2) 2.214 0.484 0.334 0.752 0.534 0.165 0.832 0.854 0.229 0.334 0.810, 0.096
(m2) 20.0 20.0 20.0 20.0 20.0 100.0 20.0 20.0 20.0 20.0 20.0 100.0
) 0.000 0.0005
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(£/7100m)
g

£/100m?2 13 6
3 4
1 4
5 4 3 3
300 (s ) 300 (4 )
o
| |
250 a 250 | —
o
200 o 200 |
|
B <
o S150
B ) ] < ]
100 R G 100 i
50 E 50 | .
0 = 0
1 2 3 4 5 1 2 4 5
3 4
13 L
6 L
3 4
1 2 3 4 5 1 2 3 4 5
30.340 5.026 12.937 79.128 62.530 19.627 7.583] 26.191| 47.232] 120.375
0.000 0.000 0.720 0.120 0.000 0.636 0.880 1.130
3.507 0.157 1.109 1.936 0.310 0.273 0.113 0.318 0.600 3.380
0.000 0.087 0.009 0.027 0.184 0.010
0.091 1.720 0.070 0.033 0.009 0.109 0.088 0.040
0.053 0.113 0.218 0.760 1.230 0.040 0.122 0.136 0.360 1.060
0.967 0.464 0.256 0.370 0.033 0.043 0.227 0.480 0.270
0.400 2.409 19.752 0.630 0.067 18.836 3.712 13.300
( 0.980 3.678 8.364 13.264 8.570 5.267 9.913 6.182 30.400 18.080
( ) 18.687 6.191 22.727 15.200 13.750 17.467 28.870 27.273 50.640 93.080
(£/100m2) 54.933 15.165| 48.318| 132.736| 87.580] 42.893| 46.661| 79.937| 134.576] 250.725
(mz) 150.0 115.0 110.0 125.0 100.0 150.0 115.0 110.0 125.0 100.0
) 0.000 0.0005
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£/4m? 14 7
10m E
2m A 3 4 2
20.0 ( 3 ) 20.0 (4 : )
o
| |
o
16.0 . 6.0 |
o
-]
£ 12:0 [ a o120
g : K
8.0 — o ( ) 8.0
=
4.0 4.0
oo ‘ I:IDEQ_O‘O | =
A B C D E A B C D E
3 4
14 L
7 L
3 4
A B © D E A B © D E
8.662 1.608 0.918 3.122 0.408 1.133 0.958 1.428 0.374 1.864 1.134 0.238
0.000 0.004 0.020 0.030 0.106 0.030
0.020 0.010 0.018 0.102 0.046 0.278 0.014 0.038 0.022 0.016 0.015
0.000 0.010
0.010 0.002 0.004
0.026 0.040 0.012 0.028 0.004 0.001 0.022 0.026 0.006 0.004
0.006 0.050 0.004 0.062 0.002 0.012 0.000 0.050 0.008 0.002 0.020
0.410 0.012 0.012 0.034 0.506 0.064 0.004 0.002 0.002 4.070
( ) 1.016 0.450 0.240 0.060 0.364 0.128 0.410 1.820 0.330 0.500 0.376 0.400
( ) 5.140 1.800 0.036 0.004 0.000 0.040 6.420 0.860 0.276
(€/4m2) 15.290 3.970 1.244 3.414 1.350 1.627 7.874 4.308 1.044 2.394 5.646 0.653
(mﬁ 20.0 20.0 20.0 20.0 20.0 100.0 20.0 20.0 20.0 20.0 20.0 100.0

) 0.000 0.0005
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4.1.2

1
kg/100
3 4 5
1 4
5
) )
100.0 ( 3 )

(kg/100m?)

N =2}
S S
o o
I

[ I = o = I - s B s R e I

(kg/100m?)

20.0 |

0_0_—===i

16

13

100.0

80.0

@
(=3
o

N
o
o

0o LM i:i = Eii ‘
1 2 3 4

3 4
16 kg
13 kg
3 4
1 2 3 4 5 1 2 3 4 5
0.322 1.931 1.013 1.960 7.139 0.915 1.426 0.880 3.650 9.279
0.000 0.000 0.031
0.012 0.119 0.000 0.000 0.197 0.023 0.060 0.025 0.296 0.087
0.000 0.000
0.319
0.955 1.156 1.013 0.902 0.757 3.280 2.038 1.100 1.369 0.174
0.127 0.632 0.000 0.000 0.197 0.023 0.262 0.013 0.218
0.552 0.429 0.113 0.311 0.033 0.035 3.337 0.313 0.016 0.203
( 0.265 1.371 0.438 1.135 8.026 0.242 7.342 0.637 5.995 10.371
( ) 0.035 0.072 0.037 0.016 2.105 1.036 0.072 0.612 1.353 76.188
(kg/100m%) 2.267| 5.709] 2.613] 4.324| 18.455| 5.553] 14.537] 3.580| 12.927| 96.620
(mz) 86.9 83.9 80.0 64.3 30.4 86.9 83.9 80.0 64.3 34.5
) 0.000 0.0005
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kg/4m? 17 14
4
C 6 E 10
4dm (A ) 4
4
(3
3.0 g 3.0 (4 )
[ |
2.5 |0 2.5
o
o
2.0. 2.0 I—
€ = <
S50 S1.5 |
3 5] ( ) <
o
afie HH
0-5 =1 0_57
| - g = =
A B c D D £
3 4
17 kg
14 kg
3 4
A B c D E A B c D E
0.034] 0.176] 0.098] 0.130] 0.067] 0.189] 0.127] 0.075] 0.023]  0.000
0.000 0.000
0.000] _0.002] 0.000] 0.020] 0.022] 0.002] 0.002] 0.005] 0.007] 0.011
0.022
0.082]  0.066] 0.021] 0.110] 0.011] 0.122] 0.132[ 0.018
0.008] __0.000] _0.000] _0.003 0.006] _0.002[ 0.008] _0.000
0.002] 0.112] 0.000] _ 0.120 0.010] _ 0.004] _ 0.008
( 0.166] _0.149] _ 0.067] _ 0.280 0.101] _ 0.146] _ 0.090] _ 0.100] _ 0.022
( ) 0.048]  0.037] 0.000 2.252] 0.812] 0.008
(kg/4m?) 0.340| 0.542] 0.186] 0.663] 0.100] 2.704] 1.225] 0.211] 0.130] 0.033
(m) 20.0 16.4 15.5 12.0 3.6 20.0 20.0 15.9 12.0 3.6
) 0.000  0.0005
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£/100m?2 18 15
3 4 5
1 4
5 3 4
400 = (3 400 (4 )
[ |
o
300 HB 300 —
o
| —_—
S 200 fo S 200 —
S S
o ( )
100 100 —
; L= B = E
1 3 4 1 2 3 4 5
3 4
18 L
15 L
3 4
1 2 3 4 5 1 2 3 4 5
1.669] 12.741 2.513 6.734] 37.829 3.372 5.960 3.988| 15.506| 128.592
0.024 0.000 0.062
0.322 3.373 0.150 0.327 5.066 0.702 0.727 0.300 8.942 3.882
0.012 0.000
5.794
0.483 0.894 0.588 0.544 0.230 1.565 1.847 0.638 0.840 0.116
0.167 1.061 0.050 0.109 0.362 0.058 0.441 0.013 0.622
0.265 2.384 0.262 0.358 0.296 0.092 5.959 1.000 0.047 2.317
( 1.438 5.542 2.688 2.955] 42.763 2.911] 31.228 4.625| 29.705] 40.846
( ) 0.610 1.251 1.250 0.544| 42.763 11.853 0.834 7.750] 18.818| 202.781
(¢/100m°) 4.954] 27.271 7.500] 11.571| 129.309| 20.564| 46.997| 18.313| 74.541| 384.328
() 86.9 83.9 80.0 64.3 30.4 86.9 83.9 80.0 64.3 34.5
) 0.000 0.0005
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QLS

£/100m?2 19 16
4
3
0 s ) 00 4 )
o
| ]
- o
3.0 3.0 o M
] o
o | B :
5 5]
2.0 éz 0 o H
|| =] = 8 )
] L,
1.0 1.0 —
0.0 E ‘ 0.0 == =
A B C D E A B C D E
3 4
19 L
16 L
3 4
A B C D E A B C D E
0.130] 1.051] 0.230] _0.647] o0.311] 1.134] 0.274] 0.314] 0.093[ _ 0.000
0.007 0.002
0.020] _0.061] o0.013[ o0.710] 0.389] 0.022] 0.052] 0.040] _0.093[ _0.233
0.400
0.056] 0.044] 0.021] 0.113] 0.011] 0.080] _0.082] _0.018
0.013] __0.000[ _ 0.003] _ 0.010 0.004] __0.006] _ 0.005[ _ 0.000
0.012[ 0.056] _ 0.008] _ 0.670 0.100] _ 0.060] _ 0.020
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